Similar Triangles (HKMO Classified Questions by topics)
1985 FI12.4

“®*Y »AB=20>BC=100>CD=280-

£ EF=d> fd s

In the figure, AB =20, BC =100, CD =80.

If EF=d, find the value of d.

1986 F13.3

4ol ¥t > AP//CR/BQ>AC=8>CB=12>
AP=10-BQ=15% CR=y- &y &g o

In the figure, AP // CR//BQ, AC=8,
CB=12,AP=10,BQ=15and CR=Yy.

Find the value of y.

1989 HI20
yoBl 0 K oa hE e
Find the value of a in the figure.

1989 HGS
“®- ¢ > AB/MN//CD -

# AB=4-CD=6% MN=xXx> & X &g -
In figure 1, AB// MN //CD. If AB=4, CD = 6 and
MN = x, find the value of X .

1989 FG10.2
4o BT 0 KX TE o
In the figure, find the value of x.

Created by Mr. Francis Hung

1990 FG6.4 R
LFY > PQ=10,RS=15,QS=20 - P
EXY=d fdehiE o « s
In the figure, PQ = 10, RS = 15, QS =20 . 10
If XY =d, find the value of d.
Q Y S
3

1991 FI5.3

@B »AP:PB=2:1-% AC=33cm
BD=21cm > PQ=Xcm > F X g o

In he figure, AP : PB=2:1.
IfAC=33cm,BD =21 cm, PQ=Xxcm,

find the value of X. A

1992 HI11 C E
“®*" > ABCD #- &3, EDF - 2 4% M #_AB

v Bhox AM e C 3|2 & EF cnpEdiz = 3 Scm -~ b
1l em fexem > Fx g o B

In Figure 2, ABCD is a square. EDF is a straight line. M is the M

mid-point of AB. If the distances of A, M and C from the A F

line EF are 5 cm, 11 cm and X cm respectively, find the value of X.
1992 FI5.2

% AH=45>CK=36>BK=12'BH=b"
If AH =45, CK=36,BK =12 and BH = b,
find the value of b.

1993 FI3.4

B® APK 2 BPH = 2 & - c=50-

% d=AHPK & f > & dHE o

In the figure, APK and BPH are straight lines.
¢ =50. If d = area of triangle HPK,

find the value of d.
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1994 HI8 1998 FG1.3 A
U] = M - sl 2 B
4wfl- »CD %~ ,BCA~BE/CA~BC=10~CA  C @Ei~“/5ABC CD L4142 AB + 3
=152 CD=102° + DE ek & - 10 15 AC=3,DB=E,AD=r’vﬂ“\r_‘r:"Jf§o
In figure 1, CD bisects ~BCA, BE//CA,BC=10, CA 10.2 Let ABC be a right-angled triangle, CD is the altitude on
=15 and CD = 10.2 . Find the length of DE .
an ind the length 0 B\Q} A AB,AC=3,DB =§,AD=r, find the value of T . D
E
1994 FI4.3 B C
4Bl b=10" & chig - 1999 FG5.4 R
Refer to the diagram, b= 10, LBz 2 &= 43,ABC*® BHLAC-% AB=15> H
find the value of c . HC=16 2 AABC e f# 2. S> £S2 & o 15 ]
G F B In figure 3, AABC is a right-angled triangle and BH L
1995 HI10 /tAI\lC. IflAB =fISS, HC = 16 and the area of AABC is S, find (
e value of S ..
’ ~ ~ ~ “‘%' 5 3 é._ 7 2 N F
%f"f‘] AB-C-D nEEERY PQR ;é“ P 2001 FI2.2 A .
B F ABCD & - 27 2 QA=8 b C ABCD - £~ 25« % AB =40 AD =30 » AE
BR=18 - £ AB éig - fo CF A w|£i 44 $BD 2 EF=Q: £ Q j
A, B, C, D are points on the sides of the right-angled GiE o
triangle PQR as shown in figure. If ABCD is a Q™= — R ABCD is a rectangle. AB = 40, AD = 30. AE and CF £
square, QA =8 and BR=18 , . .
Jigure 2 are perpendiculars to the diagonal BD . c
find the value of AB . IFEF = Q , find the value of Q 0
1997 FGS.2 ’ ’

2004 F14.3

4ol > St e S2 FRAE £ = &4 ABC hd B3 bl > A) .

F S hm A 441> S ehn ffE_ 4400 2 AC+CB=c> & c g -
In the figure, Si and Sz are two different inscribed squares of the right-angled

EfTi7e:#3,ABCDH P - i5:#CDe? 2> ¥ AEfrBD 4823 M ;
2DM:MB=1:k>» &kehig -
ABCD is a parallelogram and E is the midpoint of CD. AE and BD meet at M .

IfDM: MB = 1 : k, find the value ofk . triangle ABC. If the area of S1 is 441, the area of S2 is 440 and AC + CB =,
1998 FI13.4 find the value of .
a®* > xBC/DE~BC:DE=10:c % 4 A A
AF:FG=20:d> %d#i o Bmc
Given that in the figure, BC // DE , L '
BC:DE=10:23and AF: FG=20:d, N

D e E iy
find the value of d .

C B & B
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2007 F12.2 2013 HGS

ol - ABCD & - #-7) - AB=4cm-EF=acm-  asome 4“5 0ABCD 5 - Bif& 3 10 8 s 2 Ay E o
CD=22cm * FD=8cm - E2 FAw4i CD 2 AD ¥ 8> BE 2 FC
% ABEF & # £ bem’ > & b eiid o M2 G & AG HE R - G
If the figure, ABCD is a trapezium, AB =4 cm,, As shown in Figure 2, ABCD is a square of side 10
EF=16cm,CD=22cmand FD =8 cm, T E units, E and F are the mid-points of CD and AD
if the area of ABEF is b cm?, find the value of b . 5 om o \ respectively, BE and FC intersect at G.
ju - . Find the length of AG . A B
2007 FG1.1 2018 HI9
4r@ » AEFD §3# £ 5 - H i=enp 235 o £ 335 ABCD i Bant & & wBl“7  ABC f- BEME= £, 1 ¢ AB=AC A
* 2, BCFE ch& BBernt b4l o 2 ABen& R E W H = > £ WehiE - —82 BC=4:D 2 E 24 % BC 2 AC !tk
In the figure, AEFD is a unit square. The ratio of A E B 1@ BD=1 2 /ABC=/ADE - 4 AE hig -
the length of the rectangle ABCD to its width is As shown in the figure, ABC is an isosceles triangle with
equal to the ratio of the length of the rectangle AB = AC =8 and BC = 4 . D and E are points lying on
BCFE to its width. If the length of AB is W units, BC and AC respectively such that BD=1 and
find the value of W.. 5 L ¢ ZABC = ZADE . Find the length of AE .
2011 F14.4
“B? »ODC 52— = &350 ¢ & FH» D E
AB~AC % BD 5 54 18 AB 2 FH 4p ®"D c
WG K AC-BD 2 FH4p R *t E» A
GE=1>EH=2% FH//OC- F "
= d=EF > £d #ig - ¢
In the figure, let ODC be a triangle. Given
that FH, AB, AC and BD are line segments

such that AB intersects FH at G, AC, BD and © B c
FH intersect at EEGE=1, EH=2 and FH //
OC. If d = EF, find the value of d .
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2019 HI8
BD

4F I ¢ > DEABC - 5.1 7 LABD = ZCAD % A—ng :
__ AABD i #
*AADC i #f

BD 8

In Figure 5, D is a point on BC such that Z/ABD = ZCAD and AC = 3

=k > £k i -

pp Arcaof AABD _\ i the value of k.

Area of AADC

A

B D

2022 P1 Q3
“®- ¢ > ABCD # - B4 - EXACE 1

- Bt AE=25 2 CE=144- .
% p=AD+DE+CD: & p &g -
In Figure 2, ABCD is a rectangle. E is a point on 144
AC such that AE =25 and CE = 144 .

If p=AD + DE + CD, find the value of p .

A B
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Answers
1989 HGS
1985 FI2.4 1986 FI3.3 1989 HI20 12 1989 FG10.2
16 12 12 — 3
5
1990 FG6.4 1991 FI5.3 1992 HI11 1992 FI5.2 1993 FI3.4
6 25 12 15 500
1994 HIR 1994 F14.3 1995 HI10 1997 FGS.2 1998 FI3.4
6.8 3 12 2 26
1998 FG1.3 1999 FG5.4 2001 FI12.2 2004 F14.3 2007 FI12.2
2 150 14 462 160
2007 FGL 2011 Fl4.4 2013 HGS 2018 HIY 2019 HI
1445 2 10 S5 625 8
2 8
2022 P1Q3
281
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